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The city you live in just finished construction of its new transport network, PlusRail. There are
n stations and exactly one way to get between any given pair of them; this is because there are
only n — 1 direct station:station connections. In other words, the network forms a tree.

You have been hired to put together the signage for each of the stations which shows where on
the network a passenger is with a big arrow pointing to the bright red station in the centre.

Figure G.1: Illustration of Sample Input 1 and how two designs are reused four times, with the
labels painted at different places.

Because the drawings of the network are fairly crude, it is actually possible that you could use
the same sign in more than one station, and just write a different permutation of labels for the
station names.

If you want to make signage for the whole network, what is the minimum number of unique
designs you will need?

Input

e The first line of input contains the number of stations, n (1 < n < 3 x 10°).

e The following n — 1 lines each contain two distinct vertex indices a and b (1 < a,b < n)
indicating that there is a direct route between these stations.

Output

Output the minimum number of map designs that can be made, such that for any station at least
one of these map designs can be re-labelled such that this station is in the centre.
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